Curveback and Adirondack Swing Assembly Instructions

Back Assembly Seat Assembly (top view)
=
L ]
Arm Seat Assembly (side view)

BBD

Arm Support Outside Back Leg Center Back Leg

Parts List Hardware List

1- Seat Assembly 7- 3" Bolts (for arm support and back legs)

1- Back Assembly 14- Small Fender Washers (for each end of 3" bolts) -y Chain

2- Outside Back Legs 7- 1/4” Nuts (for 3" bolts) "

1- Center Back Leg 16- 3" Screws (for top and bottom of back and arms) Head of Bolt o el

2. Afifis 2- 4 1/2" Bolts (for arms) x

2- Arm Supports 2- Large Fender Washers (for outside 4 1/2" bolts) Large Washer Lsn\all Washer
2- 5/16” Nuts (for 4 1/2” bolts) et s
4- 1/4" Washers (for each side of swing chain on 4 1/2" bolt) LA
2- 516" Locknuts (for 4 1/2” bolts after chain is on.) ~

e}

Step 1: Set the back assembly on the seat assembly. Use the back legs with 2 holes for each end of the back. Push it up
against the top of the back with the angle cuts facing in and up. Fasten with 3” bolt, 1/4“ nut and small washers on the
bottom and 3” screws on the top.

Step 2: The back leg with one hole is for the center of the back. Fasten it the same ways as the outside leg.

Step 3: Fasten the arm supports with 3" bolts 1/4" nut and small washers.

Step 4: Fasten the arm to the back leg with 4 2" Bolt. The 4 %" bolt is put in from the inside of the back leg pushed out though
the arm. Add on a large washer and 5/16” nut then tighten. Repeat with the other arm.

Step 5: Use 3" screws to fasten the arm to the arm support. Then fasten the chain to the bolt that is sticking out of the back end
of the arm and down through the hole in the front end of the arm. Use 5/16” lock nuts and 1/4” washer on the end of
the bolts.

Note: One chain has three lengths. The long end goes up. The medium end goes to the front and the short end goes to
the back of the swing.



